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General Instructions:
«  There are 5 Sections
. Section -A Contains 15 questions in English, Section - B 10 questions in Reasoning , Saction =C 10 questions in
Mathematics, Section D 15 questions in Economics
« Al questions are Compulsory
«  There will be no negative marking
Section — A (English)
1Q: Select the correct active form of the given sentence.
Every passing vehicle was being thoroughly checked by tho guards.
{A) The guards have thoroughly checked every passing vehicle.
(B) Every passing vehicle were thoroughly checking the guards.
(C) The guards were thoroughly checking every passing vehicle.
(D) The guards have been thoroughly checking every passing vehicle.
2Q: Select the word which match same as the group of words given.
A student who idly or without excuse absents himself/herself from school
(A) vagrant
(B) truant
(C) ttinerant
(D) migrant
31Q: Inthe sentence identify the segment which contains the grammatical error.
We had to decline several orders in case that the production was held up due to labour strike.
(A) the production was held up
(B) due to labour strike
(C) We had to decline

(D) in case that
4Q: Given below are four jumbled sentences. Select the option that gives their correct order.
A. The cafe's owner says he's interested in conservation, and hopes customers will realize the animals are worth saving,
even though they often have a bad reputation.
B. None of them are venomous, meaning customers can get up close and personal with the reptiles.
C. Here you sip your drink in the company of 35 snakes.
D. This cafe, which has just opened in Tokyo, is not for the faint-hearted.

(A) DCBA

(B) ABDC

(C) DBCA

(D) ABCD
50 Read the following passage carefully and give the answer of the questions.
When you buy a car, examine carefully the importent features cf the model you are considering. Many a buyer of the latest
model has got into trouble by buying a car too broad or too long for his garage. Further more, a long car is too hard to
manage in traffic and too difficult to park. Another feature is the comfort afforded. Are the seats nice and durably
upholstered? Is there enough glass to give the driver a god view in all directions, particularly to the rear? It should be
remembered that the heavier and the powerful car is, the more expensive it will be to operate. High powered motors,
require expensive high-octane petrol. The greater weigit means groater tyre wear and enlarged brakes. The old cliché is
still true, it is not the initial cost but the upkeep which matters.
It is very expensive to maintain a large because it

(A) is heavy

(B) requires more space for parking

(C) needs changing its tyres more frequently

(D) needs more durable upholster
6 Q: Answer of the question below on the basis of Passage:
The size of the car should be in accordance with

(A) the money one can afford to pay

(B) the size of the garage the buyer has

(C) the width of the road where the buyer lives.

(D) the volume of traffic on road
7Q: Answer of the question below on the basis of Passage:. -
According to this passage, the two factors that the buyer of a naw car should keep in mind are

(A) its price and size

(3) its model and upholstery

(C) its size and the comfort il offers

(D) its upholstery and glass area
8 Q: Answer of the question below on the basis of Passage:
While buying a car, one should specially consider its



(A) price

(B) maintenance cost

(C) upholstery

(D) brakes
9 Q: Direction : Rearrange the following five sentence (A) , (B), (C), (D) and (E) in the proper sequence to form a
paragraph; then answer the question given below them.
(A) A small wooden nest box Is all It has taken to rekindle all the romance of bringing sparrows and other birds back into
our cities and halt them from fading into the past like a forgotten folktale.
(B) Thera is something wrong with a city that remains unperturbed even as its birds desert it.
(C) Thankfully, the situation is not as hopeless as it seems.
(D) Much as we try to defend the seemingly irreversible modern life of these cities, we can't stop our hearts fr_om crying
when we realize that our rapidly degenerating urban eco-system isn't generous enough to let these delicate winged
creatures build tiny little nests in its nooks and crannies, sit in solitude, and rear offspring.

(E) And this desertion seems to be true with most metros in India where house sparrows have almost become a thing of
the past.

Which of the following should be the SECOND sentence after rearrangement?
(A)E
(B)D
c)c
D)B

10 Q: Direction: Question below has two blanks, each blank indicating that something has been omitted. Choose set of
words for each blank which best fits the meaning of the sentence as a whole.

A new law has been passed stating that no actor would be allowed to shoot beyond twelve hours in a day and those who
this norm would hence-forth be for it.

(A) followed, punished
(B) accompanied, reprimanded
(C) flouted, penalized
(D) defied, applauded
11 Q: When Juan was two, he .................... already speak very well.
(A)  Might
(B) Could
(C) Can
(D) Should
12 : This dress suits her style. She
(A} Can
(B) Could
(C) wil
(D) May
Read the following poem and give answers to the given questions.
The way a crow
Shook down on me
The dust of snow
From a hemlock tree
Has given my heart
A change of mood
And saved some part
Of a day | had rued.

............. definitely like it.

13 Q: What does the poet call it "Dust of snow"?
(A) snow participles were too line
(B) they came over him like dust
(C) they felt like dust
(D) they looked like dust
14 Q: What uplifted his mood?
(A) falling of snow on his shoulder
(B) the crow
(C) hemlock tree
(D) all of the above
15Q: Name the poetic device used in the line "Has given my heart”.
(A) alliteration
(B) metaphor
(C) oxymoron
(D) simile
Section-B (Reasoning)
16Q: If A is the brother of B; B is the sister of C; and C is the father of D, how D is related to A?
(A) Brother
(B) Sister
(C) Nephew
(D) Cannot be determined



17Q: If A + B means A is the brother of B; A - B means A Is the sister of B and A x B means A Is the father of B. Which of
the following means that C is the son of M?
(A) M-NxC+F
(B) F-C+NxM
(C) N+M-FxC
(0) MXxN-C+F
18Q: Disease : Health : : Freedom : 7
(A) Slavery
(B) Pleasure
(C) Plight
(D) Beauty
Directions (Q19 - Q22): In each of the alphanumeric series given below, find the missing element
19Q: A-9 B-16 ? D-36 E-49
(A) C-26
(B) C-30
(C) C-27
(D) C-25
20Q: Z-12 X-8 ? T-0 R-8
(A) V-6
(B) V-4
(C) V-10
(D) V-0
21Q: P-1 ? R-27 S-256 T-3125
(A) Q-5
(B) Q-2
(C) Q4
(D) Q-30
22Q: ? G4 H-6 |-8 J-10
(A) F-2
(B) F-1
(C) F-0
(D) F-4
23Q: Inacode sign DRLAL is coded as 62014314. How CAMEL is coded ?
(A) 5315714
(B) 35729310
(C) 5313613
(D) None of the Above

24Q: Given below are three figures which represent graduates, postgraduates, officers. Which part represents all the
officers who are graduates and postgraduates?

Graduatos Post-gradustas

Offices

(A G
(8)D
[(99)-]
oc
25Q: Choose the alternative which is closely resembles the water-image of the given combination.

bridge
(1) pr1qde (2) pt|qle
(3) pr1qde (4) pL|ple

(A) 1
(B) 2
() 3

(D) 4
Section-C (Mathematics)

26Q: If a cone is cut parallel to the base of it by a plane in two parts, then the shape of the top of the cone will be a:

(A) Sphere
(B) Cube
(C) Cone itself
(D) Cylinder
27Q: When 2x* - x? - 3x + 5 is divided by 2x + 1, then the remainder is
(A) 6
(B)-6



28Q: The sides of a triangle are 122 m, 22 m and 120 m respocti .
(A) 1320 sq.m pectively. The area of the triangle is:

(B) 1300sgq.m
(C) 1400sq.m
(D) 1420 sq.m
290:( |\l)\ge ::ut a cone in two parts by a plane parallel to the base, then the bottom part left over Is the:
[} one
(B) Frustum of cone
(C) Sphere
(1) Cylinder
30Q: The ratio of 45 minutes to \
A’ (5Vfrac {3}{4}\) hours is
(3)3 23
(C)23 3
(D)6 23
310:\” x1+ 1is a factor of 3x’ + kx” + 7x + 4, then the value of k Is
(A) -
(B)0
c)6
(D) 10

2Q: ea gle of elevation of the top of a building 30 i frol i
32Q li h n If ‘ ‘ f f [+] mh gh m the foot of another bl.l"dil'lg in the same plalle is 50 [

Batwesn ho two BaNdlis fe p of the second tower from the foot of the first tower is 30°, then the distance
(A) 10V3m
(B) 15V3m
(C) 12¥3m
(D) 36BmM
33Q: Ifx and y are directly proportional, then which of the following is correct?
(A) x+y=constant
(B) x-y=constant
(C) xy=constant
(C) xy=constant
34Q: The solution of equation x-2y = 4 is:
(R)(0.2)
(B) (2.0)
(€) (4.0)
Cy(1.n)
35Q: If xecy and x4=5,y,=210 and x; = 2, then find y,?
(A) 200
(B) 84
(C)99
(Dy70

Section-D (Economics)

36Q: India comes in the category of countries because its per capita income in 2012 was just US$ 1530 per

annum.
(A) low middle income
(B) middle income
(C) high middle income
(D) none of the above
37Q: Among the following states, has the highest per capita income as per 2012-13 figures.
(A) Maharashtra
(B) Bihar
(C) Kerala
(D) Jharkhand
38Q: Infant Mortality Rate (IMR) indicates the number of children that die before the age of as a proportion
of 100 live children born in that particular year.
(A) four years
(B) one year
(C) two years
(D) three years
39Q: The Consumer Movement started rising in India as a social force due to
(A) Rampant food shortages
(B} Unethical and unfair trade practices
(C) Adulteration of food and edible oil
(D) All of the above
40Q: The Consumer Movement started rising in Indla in an organised form In the
(/2) 19608
(B) 1950s
(C) 1980s
(1) 19908




41Q: Till the
(A) 1990s
(B) 1950s
(C) 1960s
(D) 1970s
42Q: In 1985, the adopted the Guidelines for Consumer Protection. This was a tool for nations to adopt
measures to protect consumers and for consumer advocacy groups.
(A) World Trade Organisation
(B) United Nations
(C) World Economic Forum
(D) None of he above
43Q: The modern currency is without any use of its own, then why is it accepted as a medium of exchange?
(A)Because it is convenient
(B}t has digital and manual system
(C) It can be used in foreign exchange
(D) Is authorised by the government of the country :
44Q: M. Salim wants to withdraw Rs 20,000 in cash for making payments to Prem after Prem receives the money he
deposits it in his own account? What is the result?
(A) Salim's balance in his bank account increases, and Prem's balance increases.
(B) Salim's balance in his bank account decreases and Prem's balance increases.
(C) Salim's balance in his bank account increases and Prem’s balance decreases
(D) None of the above
45Q: In India, was the least producing sector in 2010-11.
(A)  primary sector
(B) secondary sector
(C) tertiary sector
(D) quaternary sector
46Q: In India, which sector grew the maximum from 1970-71 to 2010-117?
(A) primary sector
(B) secondary sector
(C) tertiary sector
(D) quaternary sector
47Q: In 1970-71, which sector produced the maximum in India?
(A) lertiary sector
(B) secondary sector
(C) primary sector
(D) quaternary sector
48Q: Globalisation, by connecting countries, shall resultin .......... ?
(A) lesser competition among producers.
(B) greater competition among producers.
(C) no change in competition among producers.
(D) None of the above
49Q: What has been one major factor that has stimulated the globalisation process?
(A) Availability of cheap labour in developing countries
(B) Auvailability of unexploited resources in developing countries

» consumer organisations were largely engaged In writing articles and holding exhibitions.

(C) Some countries are good in the landscape for natural resources
- A(st)or tﬁ?ﬂd improvement in techno!o%y
: me study by the former Planning Commission, if tourlsm as a sector Is Improved, every year we can give additional employment to more than
people.
(A)  20Ilakhs
(B) 25lakhs
(C) 10lakhs

(D) 35lakhs



